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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
ac˜ÁÃ^Eı YÁPˆy‘] ( Subsidiary )  

Yá˚] Yy [ S-2 : Rural and Urban Sociology (SSO-5) ] 

a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) \ˆÁÃ[˝„TˆÃ[˝ Y“ÁªJÙ›X C ]W˝Ó^«G›Ã^ XGÃ[˝ÁÃ^„SÃ[˝ È[˝◊`rÙÓm◊_ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (F) XGÃ[˝ÁÃ^„SÃ[˝ aep˚Á ◊VX A[˝e XGÃ[˝L›[˝„XÃ[˝ Â]Ï◊_Eı 
È[˝◊`rÙÓm◊_ ◊[˝ÿôˆÁ◊Ã[˝Tˆ\ˆÁ„[˝ ◊_F«X* 

 (G) \ˆÁÃ[˝„TˆÃ[˝ %◊\ˆLÁTˆ Ê`“S›Ã[˝ Y“E ı◊Tˆ a∂ëˆ„μ˘ ªRÙO›EıÁ ◊_F«X* 

 (H) \ˆÁÃ[˝„Tˆ Yá˚Á„Ã^◊Tˆ Ã[˝ÁL Y“◊TˆúˆÁX a]…„c˜Ã[˝ EıÁ^ÔÁ[˝_› 
◊[˝‰`¿bS EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ""XGÃ[˝[˝ÁV c˜_ L›[˝„XÃ[˝ AEı Yà˘◊Tˆ*'' [ _«c˜Oa CÃ^ÁUÔ 

(1938) ] — =à ˘◊Tˆ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

(F) "a[˝«L ◊[˝Y¿[˝' [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 

(G) \…ˆ◊]aeïıÁÃ[˝ Eı]Ôa…ªJÙ›Ã[˝ ]…_ ◊[˝bÃ^m◊_ ◊Eı ◊ªK˜_ ? 

(H) Eı_EıÁTˆÁÃ^ aeG◊PˆTˆ [˝◊ÿôˆ[˝Áa›„VÃ[˝ %Á„≥VÁ_X a∂ëˆ„μ˘ 

ae◊l˘ä ªRÙO›EıÁ ◊_F«X* 

(I¯) G–Á]›S a]ÁL EıÁPˆÁ„]Á-Ã[˝ %XÓTˆ] AEıEı ◊c˜„a„[˝ 

Y◊Ã[˝[˝ÁÃ[˝ [˝Ó[˝ÿöˆÁ a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªJÙ) G–Á]Ó L›[˝„X XGÃ[˝ÁÃ^„SÃ[˝ Y“\ˆÁ[˝m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) "G–Á] C `c˜„Ã[˝Ã[˝ W˝ÁÃ[˝Á[˝Á◊c˜EıTˆÁ' [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 

(F) Yá˚Á„Ã^Tˆ a◊]◊TˆÃ[˝ EıÁ^ÔÁ[˝_› a∂ëˆ„μ˘ ae◊l˘ä ªRÙO›EıÁ 

◊_F«X* 

(G) A_. A]. ◊ae\ˆ› Eı◊]◊ªRÙOÃ[˝ ]…_ a«YÁ◊Ã[˝`m◊_ Eı› ? 

(H) "LCc˜Ã[˝ ÂÃ[˝ÁLGÁÃ[˝ Â^ÁLXÁ' Eı› ? 

(I¯) Y“[˝Ã[˝ ÂGÁúˆ›Ã[˝ aep˚Á ◊VX* 

(ªJÙ) %ÁY◊X Eı›\ˆÁ„[˝ ◊[˝◊\ˆ~ Y“[˝Ã[˝ ÂGÁúˆ›Ã[˝ Y“EıÁÃ[˝„\ˆV 

EıÃ[˝„[˝X ? 

(ªK˜) \ˆÁÃ[˝„Tˆ [˝Ó[˝aÁÃ^› Ê`“S›Ã[˝ EıÁ^ÔÁ[˝_› ◊Eı ◊Eı ? 

(L) T ˆTˆ›Ã^ ◊[˝„`ü XGÃ[˝„Eı◊≥V–Eı aÁ]Á◊LEı %Á„≥VÁ_„X 

]◊c˜_Á„VÃ[˝ \…ˆ◊]EıÁ ae◊l˘ä\ˆÁ„[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
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1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the features of urbanization in 

ancient and medieval period in India. 

(b) Define urbanization and elaborate the 

salient features of urban life. 

(c) Write a note on the nature of elite class in 

India. 

(d) Analyse the functions of Panchayati raj 

institution in India. 

2. Answer any three questions  : 12 × 3 = 36 

(a) "Urbanism is a way of life." [ Louis Wirth 

(1938) ] — Explain.  

(b) What do you mean by 'Green Revolution' ? 

(c) What were the core subjects of Land 

Reform Programme ? 

(d) Write a short note on the movements of the 

organised slum dwellers in Kolkata. 

(e) Discuss the family system as one of the 

units of rural social structure. 

(f) Discuss the impact of urbanisation on rural 

life. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is meant by 'rural-urban    

continuum' ? 

(b) Write a short note on the functions of 

Panchayat Samity. 

(c) What are the major recommendations of   

L. M. Singhvi committee ? 

(d) What is 'Jawahar Rozgar Yojna' ? 

(e) Define elite group. 

(f) How would you classify different types of 

elite groups ? 

(g) What are the functions of business classes 
in India ? 

(h) Discuss, in brief, the role of women in 

urban social movements in the third world. 

    
 


